

4/5/2018

DIVISION STREET AND SEVENTH STREET RECONSTRUCTION & WASHINGTON STREET MILL AND OVERLAY S.A.P. 149-105-003

					Enginee	rs Estimate	Swenke Ims	Contracting, LLC.	BCM Co	onstruction	Heselton Construction	
Line No.		Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501	MOBILIZATION	LS	1	\$200,018.87	\$200,018.87	\$180,000.00	\$180,000.00	\$300,000.00	\$300,000.00	\$230,000.00	\$230,000.00
2	2101.524	CLEARING	TREE	22	\$216.96	\$4,773.12	\$300.00	\$6,600.00	\$220.00	\$4,840.00	\$300.00	\$6,600.00
3	2101.524	GRUBBING	TREE	22	\$127.87	\$2,813.14	\$300.00	\$6,600.00	\$110.00	\$2,420.00	\$300.00	\$6,600.00
4	2101.603	ROOT CUTTING	LS	1	\$500.00	\$500.00	\$0.01	\$0.01	\$1.00	\$1.00	\$5,600.00	\$5,600.00
5	2104.502	REMOVE BOLLARDS	EACH	1	\$100.00	\$100.00	\$50.00	\$50.00	\$125.00	\$125.00	\$46.00	\$46.00
6	2104.502	REMOVE LIGHTING UNIT	EACH	3	\$500.00	\$1,500.00	\$300.00	\$900.00	\$125.00	\$375.00	\$200.00	\$600.00
7	2104.502	REMOVE CONCRETE STEPS	EACH	2	\$700.00	\$1,400.00	\$500.00	\$1,000.00	\$350.00	\$700.00	\$210.00	\$420.00
8	2104.502	REMOVE MANHOLE	EACH	1	\$700.00	\$700.00	\$500.00	\$500.00	\$260.00	\$260.00	\$875.00	\$875.00
9	2104.502	REMOVE CASTING	EACH	24	\$100.00	\$2,400.00	\$50.00	\$1,200.00	\$125.00	\$3,000.00	\$75.00	\$1,800.00
10	2104.502	REMOVE GATE VALVE & BOX	EACH	3	\$125.00	\$375.00	\$50.00	\$150.00	\$125.00	\$375.00	\$75.00	\$225.00
11	2104.502	REMOVE SANITARY CLEANOUT	EACH	1	\$150.00	\$150.00	\$50.00	\$50.00	\$125.00	\$125.00	\$185.00	\$185.00
12	2104.502	REMOVE HYDRANT AND GATE VALVE	EACH	1	\$498.19	\$498.19	\$150.00	\$150.00	\$450.00	\$450.00	\$375.00	\$375.00
13	2104.502	REMOVE DRAINAGE STRUCTURE	EACH	24	\$452.55	\$10,861.20	\$400.00	\$9,600.00	\$250.00	\$6,000.00	\$290.00	\$6,960.00
14	2104.502	REMOVE DELINEATOR	EACH	57	\$2.00	\$114.00	\$50.00	\$2,850.00	\$30.00	\$1,710.00	\$30.00	\$1,710.00
15	2104.502	REMOVE SIGN	EACH	1	\$50.00	\$50.00	\$100.00	\$100.00	\$30.00	\$30.00	\$30.00	\$30.00
16	2104.502	REMOVE HANDHOLE	EACH	1	\$400.00	\$400.00	\$200.00	\$200.00	\$225.00	\$225.00	\$230.00	\$230.00
17	2104.502	REMOVE LIGHT FOUNDATION	EACH	1	\$500.00	\$500.00	\$500.00	\$500.00	\$550.00	\$550.00	\$80.00	\$80.00
18	2104.502	SALVAGE CASTING	EACH	1	\$52.20	\$52.20	\$50.00	\$50.00	\$125.00	\$125.00	\$75.00	\$75.00
19	2104.502	REMOVE BOULDER	EACH	2	\$100.00	\$200.00	\$150.00	\$300.00	\$370.00	\$740.00	\$75.00	\$150.00
20	2104.502	SALVAGE SIGN	EACH	58	\$25.88	\$1,501.04	\$60.00	\$3,480.00	\$30.00	\$1,740.00	\$30.00	\$1,740.00
21	2104.503	SAWING CONCRETE PAVEMENT (FULL DEPTH)	L F	355	\$3.08	\$1,093.40	\$5.00	\$1,775.00	\$5.50	\$1,952.50	\$4.50	\$1,597.50
22	2104.503	SAWING BITUMINOUS PAVEMENT	LF	4681	\$2.01	\$9,408.81	\$2.00	\$9,362.00	\$2.00	\$9,362.00	\$1.75	\$8,191.75
23	2104.503	REMOVE WATER MAIN	L F	55	\$5.25	\$288.75	\$0.01	\$0.55	\$4.00	\$220.00	\$12.50	\$687.50
24	2104.503	REMOVE SEWER PIPE (STORM)	LF	363	\$9.89	\$3,590.07	\$15.00	\$5,445.00	\$9.00	\$3,267.00	\$17.50	\$6,352.50
25	2104.503	REMOVE SEWER PIPE (SANITARY)	L F	1138	\$7.85	\$8,933.30	\$0.01	\$11.38	\$3.00	\$3,414.00	\$9.25	\$10,526.50
26	2104.503	REMOVE CONCRETE CURB	L F	6398	\$2.69	\$17,210.62	\$5.00	\$31,990.00	\$3.25	\$20,793.50	\$6.25	\$39,987.50
27	2104.503	REMOVE UNDERGROUND WIRE	LF	600	\$1.00	\$600.00	\$1.00	\$600.00	\$0.40	\$240.00	\$0.40	\$240.00
28	2104.503	SALVAGE CHAIN LINK FENCE	L F	54	\$5.22	\$281.88	\$10.00	\$540.00	\$12.00	\$648.00	\$5.00	\$270.00
29	2104.503	SALVAGE WOODEN FENCE	L F	20	\$9.32	\$186.40	\$20.00	\$400.00	\$35.00	\$700.00	\$14.00	\$280.00
30	2104.504	REMOVE CONCRETE DRIVEWAY PAVEMENT	SY	652	\$6.41	\$4,179.32	\$8.00	\$5,216.00	\$9.00	\$5,868.00	\$11.00	\$7,172.00
31	2104.504	REMOVE CONCRETE PAVEMENT	SY	4003	\$10.00	\$40,030.00	\$7.50	\$30,022.50	\$7.50	\$30,022.50	\$7.25	\$29,021.75
32	2104.504	REMOVE BITUMINOUS DRIVEWAY PAVEMENT	SY	201	\$3.81	\$765.81	\$5.00	\$1,005.00	\$5.00	\$1,005.00	\$5.50	\$1,105.50
33	2104.504	REMOVE BITUMINOUS PAVEMENT	SY	9729	\$2.00	\$19,458.00	\$4.10	\$39,888.90	\$2.40	\$23,349.60	\$2.75	\$26,754.75
34	2104.518	REMOVE RETAINING WALL	S F	3074	\$7.98	\$24,530.52	\$4.00	\$12,296.00	\$4.25	\$13,064.50	\$0.75	\$2,305.50

					Enginee	rs Estimate	Swenke Ims	Contracting, LLC.	BCM Construction		Heselton Construction	
Line No.		ltem	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
35	2104.518	REMOVE CONCRETE WALK	S F	31325	\$0.75	\$23,493.75	\$1.10	\$34,457.50	\$1.00	\$31,325.00	\$0.80	\$25,060.00
36	2104.602	RELOCATE COMMERCIAL SIGN	EACH	2	\$2,000.00	\$4,000.00	\$5,000.00	\$10,000.00	\$6,200.00	\$12,400.00	\$2,200.00	\$4,400.00
37	2104.603	RELOCATE PET CONTAINMENT SYSTEM	LF	50	\$18.00	\$900.00	\$5.00	\$250.00	\$1.00	\$50.00	\$6.50	\$325.00
38	2104.603	REMOVE AND REPLACE CONCRETE WALK	SF	1400	\$5.93	\$8,302.00	\$7.00	\$9,800.00	\$7.00	\$9,800.00	\$6.90	\$9,660.00
39	2104.603	ABANDON STORM SEWER	L F	20	\$18.12	\$362.40	\$25.00	\$500.00	\$21.00	\$420.00	\$18.00	\$360.00
40	2104.603	ABANDON WATER MAIN	LF	790	\$10.00	\$7,900.00	\$5.00	\$3,950.00	\$3.50	\$2,765.00	\$2.10	\$1,659.00
41	2104.603	RELOCATE SPRINKLER SYSTEM	L F	300	\$18.00	\$5,400.00	\$5.00	\$1,500.00	\$15.00	\$4,500.00	\$9.00	\$2,700.00
42	2104.618	SALVAGE BRICK PAVERS	S F	65	\$5.87	\$381.55	\$25.00	\$1,625.00	\$24.00	\$1,560.00	\$12.25	\$796.25
43	2105.507	COMMON EXCAVATION (P)	СҮ	9944	\$12.97	\$128,973.68	\$12.00	\$119,328.00	\$11.00	\$109,384.00	\$14.25	\$141,702.00
44	2105.507	ROCK EXCAVATION	СҮ	40	\$125.00	\$5,000.00	\$125.00	\$5,000.00	\$80.00	\$3,200.00	\$50.00	\$2,000.00
45	2105.507	SUBGRADE EXCAVATION	СҮ	202	\$1.19	\$240.38	\$0.01	\$2.02	\$11.00	\$2,222.00	\$9.70	\$1,959.40
46	2105.507	SELECT GRANULAR BORROW (CV) (P)	СҮ	3897	\$20.00	\$77,940.00	\$20.00	\$77,940.00	\$19.00	\$74,043.00	\$26.00	\$101,322.00
47	2105.507	SELECT GRANULAR BORROW (CV)(XTRA SUBCUT)	СҮ	202	\$15.00	\$3,030.00	\$0.01	\$2.02	\$21.00	\$4,242.00	\$26.00	\$5,252.00
48	2105.507	COMMON BORROW (CV) (P)	СҮ	3	\$0.78	\$2.34	\$100.00	\$300.00	\$50.00	\$150.00	\$100.00	\$300.00
49	2105.601	TEMPORARY ROAD	LS	1	\$5,000.00	\$5,000.00	\$0.01	\$0.01	\$5,000.00	\$5,000.00	\$2,400.00	\$2,400.00
50	2105.607	HAUL AND STOCKPILE EXCESS MATERIAL	LS	1	\$3,200.00	\$3,200.00	\$0.01	\$0.01	\$1,000.00	\$1,000.00	\$1,875.00	\$1,875.00
51	2105.607	STRUCTURAL SOIL BORROW (CV)	CY	917	\$60.00	\$55,020.00	\$115.00	\$105,455.00	\$110.00	\$100,870.00	\$120.00	\$110,040.00
52	2111.519	TEST ROLLING	RDST	17	\$10.20	\$173.40	\$0.01	\$0.17	\$120.00	\$2,040.00	\$30.00	\$510.00
53	2112.604	RECLAMATION BASE PREPARATION	SY	1185	\$8.00	\$9,480.00	\$6.00	\$7,110.00	\$4.00	\$4,740.00	\$1.70	\$2,014.50
54	2123.51	COMMON LABORERS	HOUR	75	\$67.13	\$5,034.75	\$0.01	\$0.75	\$1.00	\$75.00	\$77.00	\$5,775.00
55	2123.51	3.0 CU YD SHOVEL	HOUR	75	\$164.48	\$12,336.00	\$0.01	\$0.75	\$55.00	\$4,125.00	\$220.00	\$16,500.00
56	2123.61	STREET SWEEPER (WITH PICKUP BROOM)	HOUR	140	\$126.55	\$17,717.00	\$125.00	\$17,500.00	\$130.00	\$18,200.00	\$165.00	\$23,100.00
57	2130.501	DUST CONTROL	LS	1	\$5,000.00	\$5,000.00	\$0.01	\$0.01	\$2,500.00	\$2,500.00	\$5,600.00	\$5,600.00
58	2211.509	AGGREGATE BASE CLASS 5	TON	4499	\$13.14	\$59,116.86	\$17.00	\$76,483.00	\$15.50	\$69,734.50	\$17.80	\$80,082.20
59	2231.604	BITUMINOUS PATCH SPECIAL	SY	200	\$51.02	\$10,204.00	\$40.00	\$8,000.00	\$30.00	\$6,000.00	\$48.00	\$9,600.00
60	2232.501	RECLAMATION (10" DEPTH)	SY	1185	\$6.00	\$7,110.00	\$3.00	\$3,555.00	\$4.00	\$4,740.00	\$1.95	\$2,310.75
61	2232.504	MILL BITUMINOUS SURFACE (2.0")	SY	18680	\$1.50	\$28,020.00	\$1.45	\$27,086.00	\$1.80	\$33,624.00	\$2.00	\$37,360.00
62	2301.504	CONCRETE PAVEMENT 8.0"	SY	2545	\$50.00	\$127,250.00	\$65.50	\$166,697.50	\$74.00	\$188,330.00	\$74.00	\$188,330.00
63	2301.508	SUPPLEMENTAL PAVEMENT REINFORCEMENT	LB	1252	\$14.00	\$17,528.00	\$8.00	\$10,016.00	\$2.10	\$2,629.20	\$2.50	\$3,130.00
64	2301.602	1.25" DOWEL BAR	EACH	2529	\$10.00	\$25,290.00	\$7.00	\$17,703.00	\$13.00	\$32,877.00	\$13.50	\$34,141.50
65	2301.602	TIE BAR	EACH	1672	\$9.45	\$15,800.40	\$7.00	\$11,704.00	\$5.25	\$8,778.00	\$5.75	\$9,614.00
66	2331.603	CRACK REPAIR SPECIAL	LF	3000	\$4.00	\$12,000.00	\$10.00	\$30,000.00	\$10.00	\$30,000.00	\$11.25	\$33,750.00
67	2357.506	BITUMINOUS MATERIAL FOR TACK COAT	GAL	1857	\$2.96	\$5,496.72	\$2.00	\$3,714.00	\$1.75	\$3,249.75	\$1.85	\$3,435.45
68	2360.501	TYPE SP 9.5 WEARING COURSE MIXTURE (3,B)	TON	2995	\$80.00	\$239,600.00	\$60.00	\$179,700.00	\$62.00	\$185,690.00	\$65.50	\$196,172.50
69	2360.504	TYPE SP 9.5 WEAR CRS MIX(3;C)3.0" THICK	SY	210	\$35.00	\$7,350.00	\$27.00	\$5,670.00	\$17.50	\$3,675.00	\$18.50	\$3,885.00
70	2360.509	TYPE SP 9.5 WEARING COURSE MIX (3;C)	TON	1330	\$80.00	\$106,400.00	\$61.00	\$81,130.00	\$64.00	\$85,120.00	\$71.25	\$94,762.50
71	2402.503	ORNAMENTAL METAL RAILING TYPE SPECIAL	LF	352	\$200.00	\$70,400.00	\$225.00	\$79,200.00	\$215.00	\$75,680.00	\$230.00	\$80,960.00
72	2402.503	STEEL HANDRAIL	LF	10	\$163.17	\$1,631.70	\$350.00	\$3,500.00	\$135.00	\$1,350.00	\$140.00	\$1,400.00
73	2411.603	CONCRETE STEPS-DESIGN SPECIAL	L F	8	\$48.36	\$386.88	\$500.00	\$4,000.00	\$80.00	\$640.00	\$135.00	\$1,080.00
74	2411.604	CONSTRUCT STONE WALL	SY	35	\$408.00	\$14,280.00	\$615.00	\$21,525.00	\$950.00	\$33,250.00	\$710.00	\$24,850.00
75	2411.618	STONE MASONRY VENEER	S F	1055	\$25.00	\$26,375.00	\$110.00	\$116,050.00	\$72.00	\$75,960.00	\$105.00	\$110,775.00
76	2502.503	4" PERF PE PIPE DRAIN	LF	2691	\$7.79	\$20,962.89	\$9.00	\$24,219.00	\$8.00	\$21,528.00	\$8.95	\$24,084.45

					Enginee	rs Estimate	Swenke Ims	Contracting, LLC.	BCM Construction		Heselton Construction	
Line No.		Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
77	2502.602	4" PVC PIPE DRAIN CLEANOUT	EACH	5	\$100.00	\$500.00	\$250.00	\$1,250.00	\$155.00	\$775.00	\$245.00	\$1,225.00
78	2502.602	CONNECT 4" PVC OR PERF TO STORM SEWER	EACH	32	\$113.86	\$3,643.52	\$25.00	\$800.00	\$160.00	\$5,120.00	\$125.00	\$4,000.00
79	2503.503	12" RC PIPE SEWER DES 3006 CL V	LF	1189	\$37.00	\$43,993.00	\$40.00	\$47,560.00	\$45.00	\$53,505.00	\$49.00	\$58,261.00
80	2503.503	15" RC PIPE SEWER DES 3006 CL V	LF	104	\$39.00	\$4,056.00	\$42.00	\$4,368.00	\$47.00	\$4,888.00	\$51.00	\$5,304.00
81	2503.503	18" RC PIPE SEWER DES 3006 CL V	LF	68	\$38.00	\$2,584.00	\$56.00	\$3,808.00	\$54.00	\$3,672.00	\$56.00	\$3,808.00
82	2503.503	33" RC PIPE SEWER DES 3006 CL III	LF	36	\$75.00	\$2,700.00	\$103.00	\$3,708.00	\$100.00	\$3,600.00	\$98.00	\$3,528.00
83	2503.503	36" RC PIPE SEWER DES 3006 CL III	LF	8	\$85.00	\$680.00	\$117.00	\$936.00	\$140.00	\$1,120.00	\$105.00	\$840.00
84	2503.601	STORM SEWER PROTECTION	LS	1	\$25,000.00	\$25,000.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$8,250.00	\$8,250.00
85	2503.602	ADJUST SANITARY SEWER CLEAN-OUT	EACH	1	\$207.08	\$207.08	\$300.00	\$300.00	\$100.00	\$100.00	\$220.00	\$220.00
86	2503.602	CONNECT TO EXISTING SANITARY SEWER	EACH	3	\$598.99	\$1,796.97	\$2,000.00	\$6,000.00	\$820.00	\$2,460.00	\$775.00	\$2,325.00
87	2503.602	CONNECT TO EXISTING STORM SEWER	EACH	18	\$715.41	\$12,877.38	\$700.00	\$12,600.00	\$625.00	\$11,250.00	\$750.00	\$13,500.00
88	2503.602	6" CLEAN-OUT ASSEMBLY	EACH	2	\$600.00	\$1,200.00	\$300.00	\$600.00	\$260.00	\$520.00	\$500.00	\$1,000.00
89	2503.602	8"X4" PVC WYE	EACH	1	\$196.26	\$196.26	\$180.00	\$180.00	\$190.00	\$190.00	\$160.00	\$160.00
90	2503.602	8"X6" PVC WYE	EACH	4	\$247.33	\$989.32	\$210.00	\$840.00	\$220.00	\$880.00	\$190.00	\$760.00
91	2503.602	12"X4" PVC WYE	EACH	1	\$235.51	\$235.51	\$350.00	\$350.00	\$400.00	\$400.00	\$345.00	\$345.00
92	2503.602	12"X6" PVC WYE	EACH	4	\$296.80	\$1,187.20	\$355.00	\$1,420.00	\$400.00	\$1,600.00	\$350.00	\$1,400.00
93	2503.602	15"X6" PVC WYE	EACH	3	\$360.00	\$1,080.00	\$340.00	\$1,020.00	\$400.00	\$1,200.00	\$340.00	\$1,020.00
94	2503.603	8" PVC PIPE SEWER (SDR 35)	LF	479	\$35.00	\$16,765.00	\$50.00	\$23,950.00	\$46.00	\$22,034.00	\$41.00	\$19,639.00
95	2503.603	12" PVC PIPE SEWER (SDR 35)	LF	371	\$50.00	\$18,550.00	\$54.00	\$20,034.00	\$51.00	\$18,921.00	\$46.00	\$17,066.00
96	2503.603	15" PVC PIPE SEWER (SDR 35)	LF	337	\$65.00	\$21,905.00	\$59.00	\$19,883.00	\$62.00	\$20,894.00	\$51.00	\$17,187.00
97	2503.603	15" PVC PIPE SEWER (SDR 26)	LF	27	\$65.00	\$1,755.00	\$66.00	\$1,782.00	\$93.00	\$2,511.00	\$145.00	\$3,915.00
98	2503.603	4" PVC SANITARY SERVICE PIPE (SCH 40)	LF	42	\$33.28	\$1,397.76	\$35.00	\$1,470.00	\$37.00	\$1,554.00	\$42.00	\$1,764.00
99	2503.603	6" PVC SANITARY SERVICE PIPE (SCH 40)	LF	521	\$30.62	\$15,953.02	\$36.00	\$18,756.00	\$34.00	\$17,714.00	\$46.00	\$23,966.00
100	2503.604	2" INSULATION	SY	10	\$30.29	\$302.90	\$50.00	\$500.00	\$32.00	\$320.00	\$40.00	\$400.00
101	2503.608	DUCTILE IRON FITTINGS	LB	2173	\$7.50	\$16,297.50	\$5.00	\$10,865.00	\$7.00	\$15,211.00	\$9.00	\$19,557.00
102	2504.601	TEMPORARY WATER SERVICE	LS	1	\$13,549.52	\$13,549.52	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$30,000.00	\$30,000.00
103	2504.602	CONNECT TO EXISTING WATER MAIN	EACH	4	\$1,200.00	\$4,800.00	\$2,000.00	\$8,000.00	\$975.00	\$3,900.00	\$1,000.00	\$4,000.00
104	2504.602	HYDRANT	EACH	1	\$7,484.51	\$7,484.51	\$4,000.00	\$4,000.00	\$4,100.00	\$4,100.00	\$4,550.00	\$4,550.00
105	2504.602	ADJUST GATE VALVE & BOX	EACH	19	\$325.64	\$6,187.16	\$300.00	\$5,700.00	\$200.00	\$3,800.00	\$220.00	\$4,180.00
106	2504.602	1" CORPORATION STOP	EACH	10	\$350.00	\$3,500.00	\$160.00	\$1,600.00	\$175.00	\$1,750.00	\$275.00	\$2,750.00
107	2504.602	1.5" CORPORATION STOP	EACH	1	\$500.00	\$500.00	\$230.00	\$230.00	\$265.00	\$265.00	\$350.00	\$350.00
108	2504.602	2" CORPORATION STOP	EACH	1	\$700.00	\$700.00	\$335.00	\$335.00	\$375.00	\$375.00	\$460.00	\$460.00
109	2504.602	6" GATE VALVE & BOX	EACH	13	\$1,500.00	\$19,500.00	\$1,650.00	\$21,450.00	\$1,375.00	\$17,875.00	\$1,510.00	\$19,630.00
110	2504.602	8" GATE VALVE & BOX	EACH	4	\$2,500.00	\$10,000.00	\$2,000.00	\$8,000.00	\$1,750.00	\$7,000.00	\$1,990.00	\$7,960.00
111	2504.602	12" GATE VALVE & BOX	EACH	3	\$3,500.00	\$10,500.00	\$3,050.00	\$9,150.00	\$2,850.00	\$8,550.00	\$3,210.00	\$9,630.00
112	2504.602	REPAIR GATE VALVE AND BOX	EACH	1	\$709.39	\$709.39	\$450.00	\$450.00	\$170.00	\$170.00	\$800.00	\$800.00
113	2504.602	REPAIR GATE VALVE - BOX ONLY	EACH	1	\$518.85	\$518.85	\$300.00	\$300.00	\$170.00	\$170.00	\$300.00	\$300.00
114	2504.602	ADJUST CURB STOP & BOX	EACH	3	\$113.24	\$339.72	\$150.00	\$450.00	\$95.00	\$285.00	\$150.00	\$450.00
115	2504.602	REPLACE CURB STOP BOX	EACH	1	\$457.65	\$457.65	\$450.00	\$450.00	\$150.00	\$150.00	\$300.00	\$300.00
116	2504.602	1" CURB STOP & BOX	EACH	10	\$375.00	\$3,750.00	\$400.00	\$4,000.00	\$300.00	\$3,000.00	\$400.00	\$4,000.00
117	2504.602	1.5" CURB STOP & BOX	EACH	1	\$500.00	\$500.00	\$535.00	\$535.00	\$460.00	\$460.00	\$550.00	\$550.00
118	2504.602	2" CURB STOP & BOX	EACH	1	\$775.00	\$775.00	\$635.00	\$635.00	\$560.00	\$560.00	\$660.00	\$660.00

					Enginee	rs Estimate	Swenke Ims	Contracting, LLC.	LC. BCM Construction		Heselton	Construction
Line No.		Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
119	2504.603	1" TYPE K COPPER PIPE	LF	120	\$29.17	\$3,500.40	\$37.00	\$4,440.00	\$65.00	\$7,800.00	\$40.00	\$4,800.00
120	2504.603	1.5" TYPE K COPPER PIPE	LF	120	\$35.00	\$4,200.00	\$37.00	\$4,440.00	\$50.00	\$6,000.00	\$41.00	\$4,920.00
121	2504.603	2" TYPE K COPPER PIPE	LF	120	\$40.00	\$4,800.00	\$37.00	\$4,440.00	\$50.00	\$6,000.00	\$44.00	\$5,280.00
122	2504.603	6" WATERMAIN DUCTILE IRON CL 52	LF	550	\$41.00	\$22,550.00	\$45.00	\$24,750.00	\$50.00	\$27,500.00	\$56.00	\$30,800.00
123	2504.603	8" WATERMAIN DUCTILE IRON CL 52	LF	798	\$46.00	\$36,708.00	\$50.00	\$39,900.00	\$66.00	\$52,668.00	\$60.00	\$47,880.00
124	2504.603	12" WATERMAIN DUCTILE IRON CL 52	LF	775	\$55.00	\$42,625.00	\$65.00	\$50,375.00	\$80.00	\$62,000.00	\$77.00	\$59,675.00
125	2506.502	CASTING ASSEMBLY (SANITARY)	EACH	3	\$1,099.70	\$3,299.10	\$800.00	\$2,400.00	\$650.00	\$1,950.00	\$750.00	\$2,250.00
126	2506.502	CASTING ASSEMBLY R-1642-B	EACH	17	\$1,099.70	\$18,694.90	\$800.00	\$13,600.00	\$800.00	\$13,600.00	\$750.00	\$12,750.00
127	2506.502	CASTING ASSEMBLY R-3067-R	EACH	20	\$586.96	\$11,739.20	\$600.00	\$12,000.00	\$800.00	\$16,000.00	\$625.00	\$12,500.00
128	2506.502	CASTING ASSEMBLY R-3067-V	EACH	3	\$586.96	\$1,760.88	\$600.00	\$1,800.00	\$800.00	\$2,400.00	\$625.00	\$1,875.00
129	2506.502	CASTING ASSEMBLY R-3382	EACH	11	\$667.69	\$7,344.59	\$1,200.00	\$13,200.00	\$800.00	\$8,800.00	\$1,125.00	\$12,375.00
130	2506.502	CASTING ASSEMBLY R-4342	EACH	2	\$700.00	\$1,400.00	\$700.00	\$1,400.00	\$800.00	\$1,600.00	\$475.00	\$950.00
131	2506.503	CONST DRAINAGE STRUCTURE DESIGN A	LF	70.6	\$265.57	\$18,749.24	\$400.00	\$28,240.00	\$365.00	\$25,769.00	\$325.00	\$22,945.00
132	2506.503	CONST DRAINAGE STRUCTURE DES 48-4020	LF	138.42	\$374.22	\$51,799.53	\$450.00	\$62,289.00	\$325.00	\$44,986.50	\$385.00	\$53,291.70
133	2506.503	CONST DRAINAGE STRUCTURE DES 60-4020	LF	15.22	\$490.36	\$7,463.28	\$590.00	\$8,979.80	\$510.00	\$7,762.20	\$510.00	\$7,762.20
134	2506.503	CONST DRAINAGE STRUCTURE DES 72-4020	LF	10.45	\$628.12	\$6,563.85	\$720.00	\$7,524.00	\$650.00	\$6,792.50	\$670.00	\$7,001.50
135	2506.602	GROUT CATCH BASIN OR MANHOLE	EACH	60	\$457.65	\$27,459.00	\$140.00	\$8,400.00	\$100.00	\$6,000.00	\$250.00	\$15,000.00
136	2506.602	ADJUST FRAME & RING CASTING	EACH	44	\$1,108.94	\$48,793.36	\$450.00	\$19,800.00	\$375.00	\$16,500.00	\$250.00	\$11,000.00
137	2506.603	48" SANITARY MANHOLE	LF	38.7	\$525.00	\$20,317.50	\$260.00	\$10,062.00	\$275.00	\$10,642.50	\$230.00	\$8,901.00
138	2506.603	CONSTRUCT 8" OUTSIDE DROP	LF	1.3	\$100.00	\$130.00	\$1,500.00	\$1,950.00	\$1,200.00	\$1,560.00	\$2,525.00	\$3,282.50
139	2511.504	GEOTEXTILE FILTER TYPE 5	SY	6046	\$1.46	\$8,827.16	\$1.00	\$6,046.00	\$1.50	\$9,069.00	\$1.60	\$9,673.60
140	2521.518	4" CONCRETE WALK	S F	24600	\$5.00	\$123,000.00	\$5.60	\$137,760.00	\$5.25	\$129,150.00	\$5.75	\$141,450.00
141	2521.518	4" CONCRETE WALK SPECIAL	S F	7225	\$15.00	\$108,375.00	\$13.00	\$93,925.00	\$7.60	\$54,910.00	\$8.40	\$60,690.00
142	2521.518	4" CONCRETE WALK SPECIAL 1	S F	650	\$5.00	\$3,250.00	\$10.00	\$6,500.00	\$14.50	\$9,425.00	\$15.50	\$10,075.00
143	2521.518	6" CONCRETE WALK	S F	11869	\$10.00	\$118,690.00	\$8.80	\$104,447.20	\$10.00	\$118,690.00	\$11.50	\$136,493.50
144	2521.518	8" CONCRETE WALK	SF	333	\$16.00	\$5,328.00	\$10.00	\$3,330.00	\$6.00	\$1,998.00	\$7.50	\$2,497.50
145	2521.518	8" CONCRETE WALK-HIGH EARLY	SF	50	\$17.00	\$850.00	\$14.25	\$712.50	\$8.50	\$425.00	\$11.25	\$562.50
146	2521.618	4" CONCRETE WALK-HIGH EARLY	SF	200	\$6.00	\$1,200.00	\$6.60	\$1,320.00	\$8.00	\$1,600.00	\$9.10	\$1,820.00
147	2521.618	4" CONCRETE WALK SPECIAL-HIGH EARLY	SF	200	\$16.00	\$3,200.00	\$17.35	\$3,470.00	\$8.00	\$1,600.00	\$9.50	\$1,900.00
148	2521.618	6" CONCRETE WALK-HIGH EARLY	SF	400	\$8.98	\$3,592.00	\$11.70	\$4,680.00	\$8.00	\$3,200.00	\$10.00	\$4,000.00
149	2531.503	CONCRETE CURB & GUTTER DESIGN FLAT CURB	LF	147	\$14.00	\$2,058.00	\$20.00	\$2,940.00	\$27.00	\$3,969.00	\$27.80	\$4,086.60
150	2531.503	CONCRETE CURB & GUTTER DESIGN FLAT CURB (HIGH EARLY)	LF	20	\$15.00	\$300.00	\$30.00	\$600.00	\$37.00	\$740.00	\$39.00	\$780.00
151	2531.503	CONCRETE CURB & GUTTER DESIGN B618	LF	3577	\$11.00	\$39,347.00	\$22.00	\$78,694.00	\$21.50	\$76,905.50	\$25.25	\$90,319.25
152	2531.503	CONCRETE CURB & GUTTER DESIGN B618 (HIGH EARLY)	LF	20	\$12.00	\$240.00	\$25.00	\$500.00	\$31.00	\$620.00	\$35.00	\$700.00
153	2531.503	CONCRETE CURB & GUTTER DESIGN B624	LF	2997	\$17.60	\$52,747.20	\$21.30	\$63,836.10	\$18.50	\$55,444.50	\$22.00	\$65,934.00
154	2531.503	CONCRETE CURB & GUTTER DESIGN B624 (HIGH EARLY)	LF	20	\$18.60	\$372.00	\$24.30	\$486.00	\$28.00	\$560.00	\$32.00	\$640.00
155	2531.503	CONCRETE CURB & GUTTER DESIGN R412	LF	325	\$12.00	\$3,900.00	\$25.00	\$8,125.00	\$21.00	\$6,825.00	\$21.00	\$6,825.00
156	2531.503	CONCRETE CURB & GUTTER DESIGN R412 (HIGH EARLY)	LF	20	\$13.00	\$260.00	\$30.00	\$600.00	\$30.00	\$600.00	\$32.00	\$640.00
157	2531.504	6" CONCRETE DRIVEWAY PAVEMENT	SY	694	\$46.65	\$32,375.10	\$59.00	\$40,946.00	\$56.00	\$38,864.00	\$66.00	\$45,804.00
158	2531.504	6" CONCRETE DRIVEWAY PAVEMENT (HIGH EALRY)	SY	10	\$50.00	\$500.00	\$89.00	\$890.00	\$82.00	\$820.00	\$94.00	\$940.00
159	2531.504	8" CONCRETE DRIVEWAY PAVEMENT	SY	66	\$60.30	\$3,979.80	\$75.00	\$4,950.00	\$85.00	\$5,610.00	\$101.00	\$6,666.00
160	2531.507	8" CONCRETE DRIVEWAY PAVEMENT-HIGH EARLY	SY	10	\$65.00	\$650.00	\$86.00	\$860.00	\$95.00	\$950.00	\$125.00	\$1,250.00

1912 2011.00 P. CONODET E VALLET SUTTER 5.7 447 56.422 502.004 505.00 505.00 577.00 505.00 577.00 506.00 577.00 577.00 576.00 577.00 577.00 576.00 577.0						Enginee	rs Estimate	Swenke Ims	Contracting, LLC.	BCM Construction		Heselton Construction	
1975 1975	Line No.		Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
STATE	161	2531.604	8" CONCRETE VALLEY GUTTER	SY	447	\$64.22	\$28,706.34	\$95.00	\$42,465.00	\$72.00	\$32,184.00	\$77.00	\$34,419.00
1866 359-8 pt	162	2531.604	8" CONCRETE VALLEY GUTTER (HIGH EARLY)	SY	9	\$75.00	\$675.00	\$133.00	\$1,197.00	\$95.00	\$855.00	\$99.50	\$895.50
156	163	2531.618	TRUNCATED DOMES	S F	1094	\$44.64	\$48,836.16	\$35.00	\$38,290.00	\$50.00	\$54,700.00	\$53.00	\$57,982.00
140	164	2540.601	STONE COLUMN	EACH	22	\$2,500.00	\$55,000.00	\$6,500.00	\$143,000.00	\$11,000.00	\$242,000.00	\$5,850.00	\$128,700.00
1972 249-000 STORTS CONTROLLED MICHAEL M	165	2540.602	SANITARY SEWER LOCATE BOX	EACH	13	\$100.00	\$1,300.00	\$125.00	\$1,625.00	\$130.00	\$1,690.00	\$160.00	\$2,080.00
1869	166	2540.602	BICYCLE RACK	EACH	6	\$750.00	\$4,500.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
109 2240,002 NOLLING	167	2540.602	WASTE/RECYCLE RECEPTACLES	EACH	1	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00	\$3,300.00	\$3,300.00	\$3,500.00	\$3,500.00
171 2-50,000 BANDER 150-11 3 \$2,000,000 \$2,000,000 \$3,	168	2540.602	RELOCATE BICYCLE RACK	EACH	1	\$500.00	\$500.00	\$200.00	\$200.00	\$250.00	\$250.00	\$175.00	\$175.00
171	169	2540.602	BOLLARD	EACH	22	\$950.00	\$20,900.00	\$650.00	\$14,300.00	\$660.00	\$14,520.00	\$700.00	\$15,400.00
177	170	2540.602	BENCH	EACH	3	\$2,500.00	\$7,500.00	\$2,900.00	\$8,700.00	\$3,000.00	\$9,000.00	\$3,150.00	\$9,450.00
273 2540.618 MSTALL CONCRETE PAVERS ST 1360 \$25.00 \$54,000.00 \$51,000 \$52,000	171	2540.602	RELOCATE MAILBOX	EACH	2	\$100.00	\$200.00	\$250.00	\$500.00	\$200.00	\$400.00	\$225.00	\$450.00
174 2540-528 NSTALL SALVAGED BRICK PAVERS S.F. B.S. S.10.43 S.677-85 S.25.00 S.12.00 S	172	2540.602	STONE SEAT WALL	LF	270	\$840.00	\$226,800.00	\$650.00	\$175,500.00	\$485.00	\$130,950.00	\$625.00	\$168,750.00
175	173	2540.618	INSTALL CONCRETE PAVERS	S F	1360	\$25.00	\$34,000.00	\$17.00	\$23,120.00	\$17.00	\$23,120.00	\$25.00	\$34,000.00
176	174	2540.618	INSTALL SALVAGED BRICK PAVERS	S F	65	\$10.43	\$677.95	\$25.00	\$1,625.00	\$11.00	\$715.00	\$19.00	\$1,235.00
177 258-502 LIGHT FOUNDATION DESIGN E MODIFIED	175	2545.502	LIGHTING UNIT TYPE SPECIAL	EACH	21	\$5,600.00	\$117,600.00	\$5,200.00	\$109,200.00	\$4,700.00	\$98,700.00	\$4,900.00	\$102,900.00
2545-502 SERVICE CABINET EACH 15 \$800.00 \$12,000.00 \$22,000.00 \$5,000.00 \$7,000.00	176	2545.502	LIGHTING UNIT TYPE SPECIAL 1	EACH	3	\$4,400.00	\$13,200.00	\$5,000.00	\$15,000.00	\$4,750.00	\$14,250.00	\$5,000.00	\$15,000.00
179	177	2545.502	LIGHT FOUNDATION DESIGN E MODIFIED	EACH	9	\$800.00	\$7,200.00	\$1,500.00	\$13,500.00	\$610.00	\$5,490.00	\$650.00	\$5,850.00
180 2545-502 SERVICE EQUIPMENT FAD	178	2545.502	LIGHT FOUNDATION DESIGN SPECIAL	EACH	15	\$800.00	\$12,000.00	\$1,500.00	\$22,500.00	\$610.00	\$9,150.00	\$660.00	\$9,900.00
181 2545502 EQUIPMENT PAD	179	2545.502	SERVICE CABINET	EACH	1	\$6,300.00	\$6,300.00	\$9,000.00	\$9,000.00	\$7,200.00	\$7,200.00	\$7,600.00	\$7,600.00
182 2245.502 HANDHOLE	180	2545.502	SERVICE EQUIPMENT	EACH	1	\$1,300.00	\$1,300.00	\$4,500.00	\$4,500.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
183 2545.503 2" NON-METALLIC CONDUIT	181	2545.502	EQUIPMENT PAD	EACH	1	\$1,250.00	\$1,250.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00	\$1,350.00	\$1,350.00
184 2545.503 2"NON-METALLIC COND (DIRECTIONAL BORE) L.F. 120 519.00 \$2,280.00 \$20.00 \$2,400.00 \$19.00 \$2,280.00 \$20.00 \$2,400.00 \$19.00 \$2,280.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,400.00 \$20.00 \$2,40	182	2545.502	HANDHOLE	EACH	4	\$900.00	\$3,600.00	\$700.00	\$2,800.00	\$850.00	\$3,400.00	\$900.00	\$3,600.00
185	183	2545.503	2" NON-METALLIC CONDUIT	LF	2950	\$6.00	\$17,700.00	\$2.00	\$5,900.00	\$5.75	\$16,962.50	\$6.00	\$17,700.00
186 2545.503 UNDERGROUND WIRE 1/C 8 AWG	184	2545.503	2" NON-METALLIC COND (DIRECTIONAL BORE)	LF	120	\$19.00	\$2,280.00	\$20.00	\$2,400.00	\$19.00	\$2,280.00	\$20.00	\$2,400.00
187 2545.503 UNDERGROUND WIRE 1 COND 12 AWG LF 3020 \$1.00 \$3,020.00 \$0.20 \$664.00 \$0.45 \$1,359.00 \$0.50 \$1,51 188 2557.603 INSTALL SALVAGED CHAIN LINK FENCE LF 54 \$12.43 \$671.22 \$30.00 \$1,620.00 \$13.00 \$702.00 \$9.00 \$488 189 2557.603 INSTALL SALVAGED WOOD FENCE LF 20 \$24.33 \$486.60 \$50.00 \$1,000.00 \$35.00 \$700.00 \$28.00 \$560 190 2563.601 TRAFFIC CONTROL LS 1 \$22,000.00 \$22,000.00 \$20,000.00 \$20,000.00 \$73,000.00 \$73,000.00 \$77,0000 \$77,000.00 \$77,000.00 \$77,000.00 \$77,000.00 \$77,000.00 \$77,000.	185	2545.503	UNDERGROUND WIRE 1/C 6 AWG	LF	10275	\$1.55	\$15,926.25	\$0.70	\$7,192.50	\$1.50	\$15,412.50	\$1.60	\$16,440.00
188	186	2545.503	UNDERGROUND WIRE 1/C 8 AWG	LF	9925	\$1.35	\$13,398.75	\$0.50	\$4,962.50	\$1.20	\$11,910.00	\$1.30	\$12,902.50
189 2557,603 INSTALL SALVAGED WOOD FENCE L.F. 20 \$24,33 \$486,60 \$50,00 \$1,000,00 \$35,00 \$700,00 \$28,00 \$56,00 190 2563,601 TRAFFIC CONTROL L.S. 1 \$22,000,00 \$22,000,00 \$20,000,00 \$73,000,00 \$77,000,00 </td <td>187</td> <td>2545.503</td> <td>UNDERGROUND WIRE 1 COND 12 AWG</td> <td>LF</td> <td>3020</td> <td>\$1.00</td> <td>\$3,020.00</td> <td>\$0.20</td> <td>\$604.00</td> <td>\$0.45</td> <td>\$1,359.00</td> <td>\$0.50</td> <td>\$1,510.00</td>	187	2545.503	UNDERGROUND WIRE 1 COND 12 AWG	LF	3020	\$1.00	\$3,020.00	\$0.20	\$604.00	\$0.45	\$1,359.00	\$0.50	\$1,510.00
190 2563.601 TRAFFIC CONTROL LS 1 \$22,000.00 \$22,000.00 \$20,000.00 \$73,000.00 \$73,000.00 \$77,000.00	188	2557.603	INSTALL SALVAGED CHAIN LINK FENCE	LF	54	\$12.43	\$671.22	\$30.00	\$1,620.00	\$13.00	\$702.00	\$9.00	\$486.00
191 2564.518 SIGN PANELS TYPE C S F 103 \$31.06 \$3,199.18 \$95.00 \$9,785.00 \$40.00 \$4,120.00 \$41.00 \$4,220 \$192 2564.602 INSTALL SALVAGED SIGNS EACH 58 \$103.55 \$6,005.90 \$325.00 \$18,850.00 \$105.00 \$6,090.00 \$115.00 \$6,67 \$193 2571.524 DECIDUOUS TREE 2" CAL B&B TREE 50 \$600.00 \$30,000.00 \$650.00 \$32,500.00 \$525.00 \$26,250.00 \$650.00 \$32,500.00 \$11.00 \$6,67 \$104 \$1.00	189	2557.603	INSTALL SALVAGED WOOD FENCE	LF	20	\$24.33	\$486.60	\$50.00	\$1,000.00	\$35.00	\$700.00	\$28.00	\$560.00
192 2564.602 INSTALL SALVAGED SIGNS EACH 58 \$103.55 \$6,005.90 \$325.00 \$18,850.00 \$105.00 \$6,009.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$6,609.00 \$115.00 \$	190	2563.601	TRAFFIC CONTROL	LS	1	\$22,000.00	\$22,000.00	\$20,000.00	\$20,000.00	\$73,000.00	\$73,000.00	\$77,000.00	\$77,000.00
193 2571.524 DECIDUOUS TREE 2" CAL B&B TREE 50 \$600.00 \$30,000.00 \$650.00 \$32,500.00 \$525.00 \$26,250.00 \$650.00 \$32,500.00 \$32,500.00 \$525.00 \$26,250.00 \$650.00 \$32,500.00 \$32,	191	2564.518	SIGN PANELS TYPE C	S F	103	\$31.06	\$3,199.18	\$95.00	\$9,785.00	\$40.00	\$4,120.00	\$41.00	\$4,223.00
194 2571.525 DECIDIOUS SHRUB NO 5 CONT SHRB 151 \$35.00 \$5,285.00 \$45.00 \$6,795.00 \$83.00 \$12,533.00 \$76.00 \$11,44 \$1.00	192	2564.602	INSTALL SALVAGED SIGNS	EACH	58	\$103.55	\$6,005.90	\$325.00	\$18,850.00	\$105.00	\$6,090.00	\$115.00	\$6,670.00
195 2571.527 PERENNIAL NO 2 CONT PLT 2475 \$25.00 \$61,875.00 \$24.00 \$59,400.00 \$36.75 \$90,956.25 \$25.00 \$61,875.00 \$196 2573.502 \$10,800 \$10,800.00 \$10,400.00 \$200.00 \$19,200.00	193	2571.524	DECIDUOUS TREE 2" CAL B&B	TREE	50	\$600.00	\$30,000.00	\$650.00	\$32,500.00	\$525.00	\$26,250.00	\$650.00	\$32,500.00
196 2573.502 STORM DRAIN INLET PROTECTION EACH 96 \$109.75 \$10,536.00 \$150.00 \$14,400.00 \$200.00 \$19,200.00 \$200.00 \$19,20	194	2571.525	DECIDUOUS SHRUB NO 5 CONT	SHRB	151	\$35.00	\$5,285.00	\$45.00	\$6,795.00	\$83.00	\$12,533.00	\$76.00	\$11,476.00
197 2573.503 SILT FENCE; TYPE SD LF 77 \$5.31 \$408.87 \$4.00 \$308.00 \$6.00 \$462.00 \$6.50 \$500 \$198 2573.602 TEMPORARY ROCK CONSTUCTION ENTRANCE EACH 4 \$1,000.00 \$4,000.00 \$500.00 \$2,000.00 \$1,000.00 \$4,000.00 \$308.00 \$308.00 \$4,000.00 \$308.00 \$4,000.00 \$4,000.00 \$308.00 \$4,000.	195	2571.527	PERENNIAL NO 2 CONT	PLT	2475	\$25.00	\$61,875.00	\$24.00	\$59,400.00	\$36.75	\$90,956.25	\$25.00	\$61,875.00
198 2573.602 TEMPORARY ROCK CONSTUCTION ENTRANCE EACH 4 \$1,000.00 \$4,000.00 \$500.00 \$2,000.00 \$1,000.00 \$4,000.00 \$3,400.00 199 2573.602 ROCK DITCH CHECK EACH 22 \$350.00 \$7,700.00 \$0.01 \$0.22 \$105.00 \$2,310.00 \$200.00 \$4,400.00 200 2573.602 FURNISH AND INSTALL MANHOLE BAFFLE EACH 5 \$4,200.00 \$21,000.00 \$4,700.00 \$5,000.00 \$5,000.00 \$4,750.00 \$23,700.00 201 2574.507 COMMON TOPSOIL BORROW CY 404 \$26.58 \$10,738.32 \$0.01 \$4.04 \$0.01 \$4.04 \$35.00 \$14.10	196	2573.502	STORM DRAIN INLET PROTECTION	EACH	96	\$109.75	\$10,536.00	\$150.00	\$14,400.00	\$200.00	\$19,200.00	\$200.00	\$19,200.00
199 2573.602 ROCK DITCH CHECK EACH 22 \$350.00 \$7,700.00 \$0.01 \$0.22 \$105.00 \$2,310.00 \$200.00 \$4,400 \$0.00 \$2573.602 FURNISH AND INSTALL MANHOLE BAFFLE EACH 5 \$4,200.00 \$21,000.00 \$4,700.00 \$23,500.00 \$5,000.00 \$25,000.00 \$4,750.00 \$23,700.00 \$2574.507 COMMON TOPSOIL BORROW CY 404 \$26.58 \$10,738.32 \$0.01 \$4.04 \$0.01 \$4.04 \$35.00 \$14,100 \$14	197	2573.503	SILT FENCE; TYPE SD	LF	77	\$5.31	\$408.87	\$4.00	\$308.00	\$6.00	\$462.00	\$6.50	\$500.50
200 2573.602 FURNISH AND INSTALL MANHOLE BAFFLE EACH 5 \$4,200.00 \$21,000.00 \$4,700.00 \$23,500.00 \$5,000.00 \$4,750.00 \$23,700.00 \$25,000.00 \$4,750.00 \$23,700.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.00 \$25,000.00 \$4,750.	198	2573.602	TEMPORARY ROCK CONSTUCTION ENTRANCE	EACH	4	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00	\$1,000.00	\$4,000.00	\$850.00	\$3,400.00
201 2574.507 COMMON TOPSOIL BORROW CY 404 \$26.58 \$10,738.32 \$0.01 \$4.04 \$0.01 \$4.04 \$35.00 \$14,14	199	2573.602	ROCK DITCH CHECK	EACH	22	\$350.00	\$7,700.00	\$0.01	\$0.22	\$105.00	\$2,310.00	\$200.00	\$4,400.00
	200	2573.602	FURNISH AND INSTALL MANHOLE BAFFLE	EACH	5	\$4,200.00	\$21,000.00	\$4,700.00	\$23,500.00	\$5,000.00	\$25,000.00	\$4,750.00	\$23,750.00
202 2574.507 LOAM TOPSOIL BORROW (PLANTING SOIL MIX) CY 198 \$30.00 \$5,940.00 \$5,000 \$9,900.00 \$32.00 \$6,336.00 \$41.00 \$8,11	201	2574.507	COMMON TOPSOIL BORROW	CY	404	\$26.58	\$10,738.32	\$0.01	\$4.04	\$0.01	\$4.04	\$35.00	\$14,140.00
	202	2574.507	LOAM TOPSOIL BORROW (PLANTING SOIL MIX)	CY	198	\$30.00	\$5,940.00	\$50.00	\$9,900.00	\$32.00	\$6,336.00	\$41.00	\$8,118.00

					Enginee	s Estimate	Swenke Ims Contracting, LLC.		BCM Construction		Heselton Construction	
Line No.		ltem	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
203	2574.508	FERTILIZER TYPE 2	LB	124	\$1.20	\$148.80	\$2.00	\$248.00	\$12.00	\$1,488.00	\$0.70	\$86.80
204	2575.504	SODDING TYPE MINERAL	SY	1839	\$2.12	\$3,898.68	\$15.00	\$27,585.00	\$9.00	\$16,551.00	\$5.00	\$9,195.00
205	2575.504	EROSION CONTROL BLANKETS CATEGORY 0	SY	69	\$3.13	\$215.97	\$5.00	\$345.00	\$10.00	\$690.00	\$4.50	\$310.50
206	2575.507	MULCH MATERIAL TYPE 6	CY	198	\$40.00	\$7,920.00	\$45.00	\$8,910.00	\$37.00	\$7,326.00	\$85.00	\$16,830.00
207	2575.601	EROSION CONTROL	LS	1	\$15,000.00	\$15,000.00	\$0.01	\$0.01	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00
208	2575.605	SEEDING SPECIAL	ACRE	0.12	\$7,500.00	\$900.00	\$16,000.00	\$1,920.00	\$16,000.00	\$1,920.00	\$8,400.00	\$1,008.00
209	2582.503	4" SOLID LINE PAINT	LF	4903	\$1.50	\$7,354.50	\$1.00	\$4,903.00	\$1.10	\$5,393.30	\$2.25	\$11,031.75
210	2582.503	4" SOLID LINE MULTI COMP	LF	8221	\$4.00	\$32,884.00	\$3.30	\$27,129.30	\$3.50	\$28,773.50	\$3.65	\$30,006.65
211	2582.503	12" SOLID LINE MULTI COMP	LF	44	\$6.00	\$264.00	\$12.00	\$528.00	\$13.00	\$572.00	\$13.50	\$594.00
212	2582.503	24" SOLID LINE MULTI COMP	LF	310	\$10.62	\$3,292.20	\$7.50	\$2,325.00	\$8.00	\$2,480.00	\$8.50	\$2,635.00
213	2582.518	PAVT MSSG MULTI COMP	SF	1504	\$10.00	\$15,040.00	\$1.70	\$2,556.80	\$1.75	\$2,632.00	\$2.00	\$3,008.00
214	2582.518	CROSSWALK MULTI COMP	S F	2283	\$10.00	\$22,830.00	\$8.25	\$18,834.75	\$9.00	\$20,547.00	\$9.50	\$21,688.50
215	2582.618	PAVEMENT MARKING SPECIAL	S F	336	\$25.00	\$8,400.00	\$21.00	\$7,056.00	\$22.00	\$7,392.00	\$24.00	\$8,064.00
	Totals for Project SAP 149-105-003					\$3,622,481.35		\$3,724,562.80		\$3,889,844.84		\$4,066,768.80